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Example: Forecasting

Read Problem 6.21 page 282

Open dataset data6-6

File > Open data > sample file > Ramanathan…  double click on 

Data6-6 US Farm Population

Create the time variables t in you dataset.

Variable > Define new variable… 

Enter the following:  
time = year – 1947

time2 = time^2

time3 = time^3

lnpop = ln(farmpop)

Check that the new variable has been created correctly.  View the data.

Data > Display variables > all variables

Fit the regression models (A) (B) (C) and (F).  
To fit the Log-Linear model (F).

Run the regression:  lnpop = beta1 + beta2 time + u

Model > Ordinary least squares

Dependent variable = lnpop

Independent variables = time

Be sure to save the fitted values

Model data > Add to dataset > fitted values

To use these fitted values you will need to transform them back to the original scale.

Variable > Define new variable… 

Enter the following:  

newpop = exp(lnpop)

To plot the fitted model to the data.

Data > Graph specified vars > X-Y scatter…

X-axis variable = time

Y-axis variable = newpop farmpop

Which model has the largest adjusted R-square?  Which model has the smallest AIC?  Which statistics the should you use to pick the best model for forecasting?  The adjusted R-square or the Model Selection Statistics AIC?

Complete Problem 6.21 to find the best model for forecasting the US Farm Population.

To compute MAPE see the home solution and note that you will need to use the gretl console.

Utilities > gretl console

Write your answers here:

